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QUESTION 1

What might a connector specify? 

A. dependencies 

B. classes 

C. associations 

D. messages 

E. links 

Correct Answer: E 

 

QUESTION 2

Triggers on two different transitions originating from two states at different levels of the same state are simultaneously
enabled (as shown in the exhibit). 

A. The state machine is not well-formed. 

B. More deeply nested transitions take precedence over those with less depth. 

C. Both transitions are taken in arbitrary order. 

D. The less deeply nested transition takes precedence over those with more depth. 

Correct Answer: B 

 

QUESTION 3
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What is true when invoking a CreateObjectAction? 

A. Behaviors can be executed. 

B. Initial expressions can be evaluated. 

C. The classifier cannot be abstract. 

D. State machine transitions can be triggered. 

E. The classifier cannot be an association class. 

Correct Answer: C 

 

QUESTION 4

Which relationships would make the model in the exhibit ill-formed? 

A. Special Order and Order are related to each other via a dependency. 

B. Special Order and order are related to each other via an association. 

C. Order is a subtype of Special Order. 

D. Special Order is a subtype of Order. 

Correct Answer: C 

 

QUESTION 5

What characteristic does a Connectable Element possess? 
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A. represents the end of a communication channel 

B. can be connected to other elements by connectors 

C. can have associations 

D. can own connectors 

Correct Answer: B 
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